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Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. Marks of each question are written alongside the question

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper
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Q1. a) Show the preferences of a couple over the number of children it wishes to have and
‘other goods’ using indifference curves, when children are to be taken on the horizontal axis
and other goods on the vertical axis. What will be an ‘optimal’ fertility rate in this society,
when all goods, including children, are considered essential and normal goods?
b) Show what happens to the fertility rates if:
I.  Family income increases from sources other than wage income.
ii.  Family income increases as a result of increase in wage income where it is given
that women have to divide their labor time between raising children and being a
part of the labor force.
iii.  How would your answer to part ii change if wages were to go up exclusively for
men? (9.75+9)
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Q2. a) Consider an economy plagued with high levels of informal employment. Give your
opinion on what would happen to the size of the informal sector if policy makers embark on
Keynesian expansion to increase formal sector employment?

b) Given below is the production function for a family farm in country Zee, where income is
shared equally:

No of workers 1 2 3 4 5
Output ($) 1000 1800 2400 2800 3000

If the costs of migration are zero and there are 50% chances of anybody getting urban sector
job that pays $1300 per annum, then:
I.  How many workers will migrate from this family farm to the urban sector?
ii.  Will the number of workers migrating change if the total family income, whether
from the urban sector job or from the family farm, were to be pooled and shared
equally? (8.75+10)
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Q3. Explain how well-implemented land reforms, involving redistribution of land from land
owners to landless, can lead to a rise in labour supply in rural agriculture markets? Use

suitable diagrams to explain your point. (18.75)
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Q4.a) Explain why land inequalities tend to rise in poor rural economies, characterized by
collateralized informal lending. Use a suitable numerical example to demonstrate your point.

b) Do you agree with the hypothesis that in rural credit markets, where the probability of
repayment of loan is exogenously given, the lenders earn no ex-ante return on their money

over and above their opportunity cost? Explain using a numerical example. (9.75+9)
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Q5. With reference to productive base, explain the concept of sustainable development and
its measurement. How does the relationship between existing and optimal capital stock

explain sustainable development? (18.75)
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Q6. Discuss the processes through which global economic integration affects the poor in
developing countries. What could be the best possible ways of safeguarding the interests of
the poor and the vulnerable sections of the society when these countries integrate with the
rest of the world? (18.75)
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